
Visualization of cosmic perturbation
(Dated: September 26, 2016)

I. METHOD

We use the transfer function δ(k) obtained from CAMB to calculate the perturbation evolution in real space (to
see the evolution of an initial δ function perturbation in real space). The first step is re-set the initial condition (use
baryons as an expample)

δb(k, z) =
δb(k, z)

δ
(ini)
b (k)

(1)

where δ
(ini)
b (k) is the initial transfer function for baryons, we choose z = 106. Then do an interpolation to the new

δb(k, z) (interpolate k), this could help us kill the oscillation of the final result. Then delete a pure Dirac function in
real space (corresponds a constant δ(k) in Fourier sapce)

δb(k, z) = δb(k, z) − δb(kmax, z) (2)

this process is also used to kill the collision of the final result. Then do a Fourier transformation

δb(r, z) =

∫
d3k

(2π)3
eik·xδb(k, z)

=
1

2π2

∫ +∞

0

k

r
sin(kr)δb(k, z)dk

(3)

Then take a Gauss blur process to δb(r, z) to kill the rest oscillation of the final result.
For cold dark matter, photon, neutrinos, take the same process. Default setting of CAMB is

Ωbh
2 = 0.0226 ΩCh

2 = 0.112 Ωνh
2 = 0.00064 ΩK = 0 H0 = 70 (4)

II. RESULT

main feature:

1. CDM(see FIG.1(a) and FIG.2(a)): compare with baryon, there is no propagation of the peak when z > 1000; but
the δCDM(r) is also increased at small r when z > 1000, this should be caused by gravitational instability(because
inhomogeneous baryon etc has already reached here, etc). After z = 100(not 1000), the peak growth as baryon
did.

2. baryon(see FIG.1(b) and FIG.2(b)): the peak/perturbation propagate to outside when z > 1000, and then
growth after z = 1000 at r ≈ 103Mpc/h.

3. photon(see FIG.1(c) and FIG.2(c)) and massless neutrino(see FIG.1(d) and FIG.2(d)): the peak propagate when
z > 1000 (corresponds to baryon), and there is no peak growth when z < 1000. The profile of neutrino is more
slope than photon. And the propagation speed of neutrino is faster than photon, the reason should be, when
the perturbation propagate to outside, photon acting with baryon, but neutrino don’t.

4. massive neutrino(see FIG.1(e) and FIG.2(e)): when z > 1000(or ∼200, see the animate in section III for details),
massive neutrino acting as massless neutrino(the “peak” propagate to outside). when z < 100, the difference
between this two kind of neutrinos appeared: massless neutrino acting as photon, massive neutrino acting as
baryon(the perturbation of massive neutrino growth, and we can see a small peak around r = 100 if Ων big
enough).

If we increase the value of Ων (set Ων = 0.022, corresponds to
∑
mν = 1.00eV, for FIG.4), the growth of massive

neutrinos at late time become faster, and there is a quasi-peak arise near r = 100, see FIG.4. This means the massive
neutrinos acting as baryons in the late time.

FIG.3 plot δ(r) in one figure for all component at some redshift section. The animate in section III is also useful
to show the evolution of the initial δ function perturbation in real space.
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(a)cold dark matter
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(b)baryons
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(c)photons
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(d)massless neutrinos
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(e)massive neutrinos

FIG. 1: Perturbation in real space at early period for each component. Notice the difference between massless and massive
neutrinos at z = 100. CDM is cold dark matter, b is baryons, g is photons, r is massless neutrinos, nu is massive neutrinos.
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(a)cold dark matter
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(b)baryons
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(c)photons
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(d)massless neutrinos
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FIG. 2: Perturbation in real space at late time for each component. For photons and massless neutrinos at z = 0, δ(r) exhibit
bad, this maybe caused by the computational error of CAMB (see δ(k) in Fourier space could found some clue).
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FIG. 3: Perturbation at some redshift section for all component. At early time, baryon is overlap with photon, and massless
neutrino is overlap with massive neutrino. At late time, baryon is overlap with cold dark matter, and massless neutrino is
overlap with photon.
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FIG. 4: δ(r) for much more massive neutrinos.

III. ANIMATE

Form the above animate, we can also see a backward motion of baryons after z ∼ 100(but not too much), this should
be caused by the gravitational attraction of the central cold dark matter. And maybe the same mechanism to slow
down baryons (photon carry baryon go outside with high velocity initially).


	0.0: 
	0.1: 
	0.2: 
	0.3: 
	0.4: 
	0.5: 
	0.6: 
	0.7: 
	0.8: 
	0.9: 
	0.10: 
	0.11: 
	0.12: 
	0.13: 
	0.14: 
	0.15: 
	0.16: 
	0.17: 
	0.18: 
	0.19: 
	0.20: 
	0.21: 
	0.22: 
	0.23: 
	0.24: 
	0.25: 
	0.26: 
	0.27: 
	0.28: 
	0.29: 
	0.30: 
	0.31: 
	0.32: 
	0.33: 
	0.34: 
	0.35: 
	0.36: 
	0.37: 
	0.38: 
	0.39: 
	0.40: 
	0.41: 
	0.42: 
	0.43: 
	0.44: 
	0.45: 
	0.46: 
	0.47: 
	0.48: 
	0.49: 
	0.50: 
	0.51: 
	0.52: 
	0.53: 
	0.54: 
	0.55: 
	0.56: 
	0.57: 
	0.58: 
	0.59: 
	0.60: 
	0.61: 
	0.62: 
	0.63: 
	0.64: 
	0.65: 
	0.66: 
	0.67: 
	0.68: 
	0.69: 
	0.70: 
	0.71: 
	0.72: 
	0.73: 
	0.74: 
	0.75: 
	0.76: 
	0.77: 
	0.78: 
	0.79: 
	0.80: 
	0.81: 
	0.82: 
	0.83: 
	0.84: 
	0.85: 
	0.86: 
	0.87: 
	0.88: 
	0.89: 
	0.90: 
	0.91: 
	0.92: 
	0.93: 
	0.94: 
	0.95: 
	0.96: 
	0.97: 
	0.98: 
	0.99: 
	0.100: 
	0.101: 
	0.102: 
	0.103: 
	0.104: 
	0.105: 
	0.106: 
	0.107: 
	0.108: 
	0.109: 
	0.110: 
	0.111: 
	0.112: 
	0.113: 
	0.114: 
	0.115: 
	0.116: 
	0.117: 
	0.118: 
	0.119: 
	0.120: 
	0.121: 
	0.122: 
	0.123: 
	0.124: 
	0.125: 
	0.126: 
	0.127: 
	0.128: 
	0.129: 
	0.130: 
	0.131: 
	0.132: 
	0.133: 
	0.134: 
	0.135: 
	0.136: 
	0.137: 
	0.138: 
	0.139: 
	0.140: 
	0.141: 
	0.142: 
	0.143: 
	0.144: 
	0.145: 
	0.146: 
	0.147: 
	0.148: 
	0.149: 
	0.150: 
	0.151: 
	0.152: 
	0.153: 
	0.154: 
	0.155: 
	0.156: 
	0.157: 
	0.158: 
	0.159: 
	0.160: 
	0.161: 
	0.162: 
	0.163: 
	0.164: 
	0.165: 
	0.166: 
	0.167: 
	0.168: 
	0.169: 
	0.170: 
	0.171: 
	0.172: 
	0.173: 
	0.174: 
	0.175: 
	0.176: 
	0.177: 
	anm0: 
	0.EndLeft: 
	0.StepLeft: 
	0.PlayPauseLeft: 
	0.PlayPauseRight: 
	0.StepRight: 
	0.EndRight: 
	0.Minus: 
	0.Reset: 
	0.Plus: 


